0000 02180 (20190 110)

Oo00O0D0 100000 ABCDOOOO

(1) O ABCOO ABDOUOOOD «0OO00O00O cosey, sinad0 000000

(2) 0000 ABCDOO ABOOUOOOOD HOOOOOOOOOOOODOOOOO SO
obooboooooooo

00
(1) ABOOOO MOOOOOABLCM, ABLDMOO
a = /ZCMD
’E‘:‘m‘:‘ﬁ‘:lj _B)-—C>:—C> m:m —B>:12><C086002%|:|D
IMC| = |MD| = Y2 |aB| = Y2
2 2
1 1
M—)C-l\ﬁ:(A—C)—Eﬁ)-(E—EE)
1 1 1
— AC-AD — —AC-AB — —AB-AD + —|AB|?
2 2 4
1 1 1 1 1 1 ., 1
= - X o Xt x1"=—
2 272 272 "4 4
0Doooo
1
MC - MD 1 1
oS = ————— = _ = (I:I)
|MC||MD| 3 V3 3
2 2

(2) OO0O0O ABCDOOOOODOOO ABOODO HOOOOOOOOO
OO0 HOO ABCOOOOO A (0s9=m—a)0O0000O0O0O HOO ABDOOO
OO0 n—-0—0d00OD0

(i)O§0§%—aDDD D
1 9 . o 3
S:§x1 X sin 60° X cos@ = —— cos 0 .
ooooo M g H
p=00000 @, Hzg—aDDDD
ﬁcos(i—oz):\/gsinoz:\/3-2\/7 = 1
4 2 4 4 3 V6

— 1 ©UOooooooooo



S = 5 X 1% x sin 60° x {cos@ + cos(m — 0 — a) }
D
= @{cos@ —cos(f + )} C
T—0—«
3 i H
:T{cos@—(cochosa—sianina)} M
= %{COSQ— (%COSQ— 2? sinG)}
= @(@sinﬁ—i— %(3059)
= TB%‘E(\/@ sin 0 + %COS@)

= %(sin&cosﬁ—i— cos 0 sin 3)
1
= - sin(0 + )
oooopOd
COSﬁ:Q Sinﬁzi (0<B<1)

V3’
0000000000

S oatBZ04BS 18
goon
1 . /7 1
gsm(?—a—i—ﬂ)—icos(a—ﬂ)
= %(cosacosﬂ + sin asin 3)
_inxJ§+2¢§x 1)
2\3 " /3 3 V3
_ 1 V2
2 3
1
V6
1 . /m 1 1 V2 1
§s1n<?+5)—50085—2><\/§——\/€

Ooooooso

— 2 — ©OOoooooooon



T 1 ﬁ
_ S|z
0+p 2DDDD2<: 4>’

T i :
9 _T_ - oood —
+ 5 a+5;2+5 V6

SOoOooono )
75
ooon
oooooso
=" psooOO0OO00 ~
2 2 O
. "gopoooog - o
= — — Y N3
5 3 V6
ooono

©Uooooooooo



